

KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

Form ACO-1 September 1999 Form Must Be Typed

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

Operator: License # 33060	API No. 15 - 025-21324-00-00
Name: Diversified Operating Corporation	County: Clark
Address: 15000 W 6th Ave #102	S _2 _S _2 Sec. 10 Twp. 31 S. R. 21 East V West
City/State/Zip: Golden, CO 80401	722 feet from (S)/ N (circle one) Line of Section
Purchaser: N/A	2562 feet from (E) / W (circle one) Line of Section
Operator Contact Person: Terry J Cammon	Footages Calculated from Nearest Outside Section Corner:
Phone: (303) 384-9611	(circle one) NE (SE) NW SW
Contractor: Name: Murfin Drilling Rig 21	Lease Name: Berryman Well #: 10-15-5
License:	Field Name:
Wellsite Geologist: MBC Well Logging	Producing Formation:
Designate Type of Completion:	Elevation: Ground: 2196 Kelly Bushing: 2207
New Well Re-Entry Workover	Total Depth: 6285 Plug Back Total Depth:
Oil SWD SIOW Temp. Abd.	Amount of Surface Pipe Set and Cemented at 677 Feet
Gas ENHR SIGW	Multiple Stage Cementing Collar Used?
→ Dry Other (Core, WSW, Expl., Cathodic, etc)	
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from
Operator:	feet depth tow/sx cmt.
Well Name:	Drilling Fluid Management Plan PA AIT I MR
Original Comp. Date: Original Total Depth:	(Data must be collected from the Reserve Pit) t O - 23 - 08
Deepening Re-perf Conv. to Enhr/SWD	Chloride content 4800 ppm Fluid volume 3000 bbls
Plug Back Total Depth	Dewatering method used Natural Drying
Commingled Docket No	Location of fluid disposal if hauled offsite:
Dual Completion Docket No	Operator Name:
Other (SWD or Enhr.?) Docket No	RECEIL AND A STATE OF THE STATE
1-11-2006 1-23-2006 1-23 P&A	Lease Name: RECEIVED License No.:
Spud Date or Date Reached TD Completion Date or Recompletion Date	
necompletion bate necompletion bate	County: KCC WICHITA
	WICHITA
Kansas 67202, within 120 days of the spud date, recompletion, workove Information of side two of this form will be held confidential for a period of 1 107 for confidentiality in excess of 12 months). One copy of all wireline logs TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged wells.	2 months if requested in writing and submitted with the form (see rule 82-3- and geologist well report shall be attached with this form. ALL CEMENTING
herein are complete and correct to the best of my knowledge.	
	KCC Office Use ONLY
Signature:	ROO Office use Office
Title: President \\ Date: 3-23-2006	Letter of Confidentiality Received
Subscribed and sworn to before me this 22 day of	If Denied, Yes Date:
20 06	Wireline Log Received
(Mels 1	Geologist Report Received
Notary Public:	UIC Distribution
Date Commission Expires: 4/19/200	

未验入

perator Name: Diversified Operating Corporation			Lease	Lease Name: Berryman			Well #: 10-15-5		
Sec. 10 Twp. 31				y: Clark					
NSTRUCTIONS: She ested, time tool open emperature, fluid reco electric Wireline Logs	and closed, flowing wery, and flow rate	g and shut-in press is if gas to surface	ures, whether s test, along with	hut-in pre	essure reached :	static level, hydr	ostatic pressur	es, bottom hole	
Orill Stem Tests Taken (Attach Additional S		✓ Yes	No		og Formatio	on (Top), Depth		Sample	
Samples Sent to Geological Survey		No	Nam See	ne Top Geological Wellsite Log.			Datum		
Cores Taken Electric Log Run (Submit Copy)	·	☐ Yes 📝 Yes 🔲			ŭ	J			
ist All E. Logs Run: Dual Induction, Microlog	Compensate	ed Density,Ne	utron PE,						
			SING RECORD	✓ Ne	ew Used	on etc			
Purpose of String	Size Hole Drilled	Size Casing Set (In O.D.)	We	ight ./Ft.	Setting Depth	Type of Cement	# Sacks Used	Type and Percen	
Conductor	24	20			40	common	To Surface		
Surface	12 1/4	8 5/8	24		677	common	450	3% cc+Flosea	
P&A	7 7/8	None			See Attached				
		ADDITI	ONAL CEMENTI	ING / SQL	JEEZE RECORD				
Purpose: Perforate	Depth Top Bottom	Type of Cemer	t #Sacks	s Used	d Type and Percent Additives				
Protect Casing Plug Back TD Plug Off Zone							 		
Shots Per Foot		ON RECORD - Bridg Footage of Each Inter		,		ture, Shot, Cemer count and Kind of M		rd Depth	
				RECEIVED MAR 2 7 2006 KCC WICHITA					
						MAR 27 20	06		
	-	·			KC	C WICH!	TA		
TUBING RECORD	Size	Set At	Packer /	At	Liner Run	Yes No			
Date of First, Resumerd	Production, SWD or E	nhr. Producir	ng Method	Flowing	g Pumpin	g 🔲 Gas Li	ft Othe	er (Explain)	
Estimated Production Per 24 Hours	Oil	Bbls. Gas	Mcf	Wate	er Bt	ls. (Gas-Oil Ratio	Gravity	
	isposition of Gas METHOD OF COMPLETION				Production Interval				

SURFACE CASING

ALLIEU CEMENTING CO., INC. 23047 Federal Tax I.D.#

REMITTO P.O. BOX 31	SERVICE POINT:
RUSSELL, KANSAS 67665	Medicine Lodge 15
BERRYMAN	· · · · · · · · · · · · · · · · · · ·
DATE / Jan 06 SEC. TWP. RANGE C. 2.	ALLED OUT ON LOCATION JOB START JOB FINISH 5:30 PM 9:00 Pm 10:30 Pm
LEASE WELL# 10-15-5 LOCATION 160 &	CS34, North to RIE" 5m. Clark KS
OLD OD KIKULO: 1	Ethau Co., Imi. N&S to Rig.
CONTRACTOR MURFIN 21	OWNER Diversified Open.
TYPE OF JOB Sue face	
HOLE SIZE 2 /4 T.D. 680	CEMENT
CASING SIZE '85/8 DEPTH 677	AMOUNT ORDERED 350x 65:35:6 +31/0 at
TUBING SIZE DEPTH	14 Floseaf and 100 sx" ("+ 3% cc
DRILL PIPE DEPTH	
TOOL DEPTH	
PRES. MAX 800 MINIMUM —	COMMON 100 C @ 12.05 1205,00
MEAS. LINE , SHOE JOINT 4/	POZMIX @
CEMENT LEFT IN CSG. 4/	GEL @
PERFS.	CHLORIDE 15 @ 38.00 570.00
DISPLACEMENT 40/2 BGB FREST H'O	ASC @
EQUIPMENT	ALW 350 @ 8.15 2852,50
EQUIT MENT	F10 Seal 88 @ 1.70 149.60
	RECEIVED @
PUMPTRUCK CEMENTER D. Felio	(a)
#352 HELPER C. Reed	MAR 2 7 2006 @
BULK TRUCK	• @
#397 DRIVER J. Kess/en	KCC WICHITA @
BULK TRUCK	
#364 DRIVER M. Coley	HANDLING 487 @ 1.60 779.20
<i>)</i>	MILEAGE 70 x 487 X, 00 2045,40
REMARKS:	
5	TOTAL 7601.70
Pipe on Both Break Circ., Pump Preflush	
Pump 350sx 65:35:6+3% (c+14#Floseof, Pump 100sx	SERVICE
C'+390cc., Stop Pumps, Release Plug, Start	
Disp, Washup on Plug, See Steady increase	DEPTH OF JOB / 2.7.

PLUGGING REPORT

ALLIEU CEMENTING CO., INC. 23055

REMIT TO P.O. BOX 31	SERVICE POINT:
RUSSELL, KANSAS 67665	Medicine bolgets
DATE 23 Jan 06 10 315 21W	ALLED OUT, ON LOCATION JOB START JOB FINISH 4:30 Pm 5:30 Pm 9.30 PM
LEASE BERRYMAN WELL#10-15-5 LOCATION 160 \$	34 Sct N. to Rd E'S Sou COUNTY, STATE Clark
OLD OR NEW (Circle one) E and S, go N/	c though 6/0,1,N&S N/cc
CONTRACTOR Muxfin #21 TYPE OF JOB ROTARY Plug	OWNER Diversified Open
HOLE SIZE 7 % T.D.	CEMENT
CASING SIZE 85/6 DEPTH 677	AMOUNT ORDERED 195 SX 60:40.6
TUBING SIZE DEPTH	
DRILL PIPE 4/2 DEPTH TOOL DEPTH	
PRES. MAX 500 MINIMUM	COMMON //7 A @ 8.70 10/7.90
MEAS. LINE SHOE JOINT	POZMIX 78 @ 4.70 366.60
CEMENT LEFT IN CSG.	GEL 10 @ 14.00 140.00
PERFS.	CHLORIDE@
DISPLACEMENT Notive Mul & Freesh HO	ASC@
EQUIPMENT	
	MAR 2 7 2006 — @ — — — — — — — — — — — — — — — — —
PUMP TRUCK CEMENTER D. Felis	(0)
#352 HELPER C. Red	KCC WICHITA @
BULK TRUCK # 3 6 4 DRIVER G. Kareler	
#364 DRIVER G. Kessfer BULK TRUCK	
# DRIVER	
	HANDLING 205 @ 1.60 328.00
REMARKS:	MILEAGE 70 x 205 x 06 861,00
Pump 50sx cement at \$200, Disp W 3 Bbli water 65B	TOTAL 27/3,5C
1 - 4at 20 st (amentate 1210) Disa with 5 Kb/s water 8 10R.	CEDVICE
Fump 305x cement at 670', Visa, with bloswater	
Pump 205X cenerat 60; Pump 15 sx in Rot hole	DEPTH OF JOB 5200
Pump 10 sx in mouse hole	DIIMD TDIICE CHADOU

ALLIEU CEMENTING CO., INC.

23055

REMIT TO P.O. BOX 31 SERVICE POINT: RUSSELL, KANSAS 67665 Medicine blocks TWP. RANGE CALLED OUT ON LOCATION JOB START JOB FINISH DATE 235 06 9,30 PM 1:30 Pm 4:30 Pm 2/د 10 21 W 5:30Pm COUNTY, LEASE BERRYMAN WELL #/1)-15-5 \$ 34 5ct N. to Rd"E" 5m. Clark OLD OR NEW Circle one) Earls, go N/c though 6/6,1, N& 5 Hola CONTRACTOR Muxfin #21 OWNER Diversified Great TYPE OF JOB ROTARY Plug **HOLE SIZE** T.D. **CEMENT** AMOUNT ORDERED 195 sx 60:40.6 **CASING SIZE** DEPTH 677 **TUBING SIZE DEPTH DRILL PIPE DEPTH** TOOL **DEPTH** PRES. MAX **MINIMUM** COMMON__//7 A @ 8,70 1017.90 MEAS. LINE @ 4.70 366.60 SHOE JOINT POZMIX 78 CEMENT LEFT IN CSG. @ 14.00 140.00 **GEL** PERFS. **CHLORIDE** Nutive Mud & Fresh HO DISPLACEMENT ASC RECEIVED **EQUIPMENT** MAR 2 7 2006 **PUMP TRUCK** CEMENTER _ D. Felio @ # 3*52* HELPER C. Red KCC WICHITA **BULK TRUCK** #364 DRIVER G. Kusslen **BULK TRUCK** DRIVER HANDLING_ 205 MILEAGE 70 x 205 x .06 _ **REMARKS:** TOTAL 27/3,50 Pump 50sx cement at \$200, Disp @ 3 Bbls water 65Bbls mud Pump 50st concert at 1220, Disp with 3 B61s water & 108615 mid **SERVICE** Pump 50sx cementar 690', Disp. with 6 Bblswater Pump 20 SX cenutat 60; Pump 15 SX in Rot hole, DEPTH OF JOB